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1) If the concentration of acetic acid in vinegar is 5.0g/L, and you took
20,Qml of acetic acid to be titrated with!,20M NiOn, find the volurne
(In ml) of NaOH needed for complete titration. (Molar Mass of acetic
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2) If you wish to prepare 2J0 pl of a 0-10 M of reagent from a 1.50 M
solution, how much of the latter solution would you use?
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1'3)'$/hat are the oxidizing agents and reducing agents in today experiment?
\--,,' Give one example.
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Chemistry llepartment
General Chemistry l_,ab 33310g

Student ID No. :.........".",....... ::::::::.,.,,

Ol) Given tbfoltowin&da&[ ?.6 t+ l]
- Mass of antacid tablet containing the u*th l(OH)r = 0.75 g
- volume of il"lr M HCt solution usecl to dissolve the sample = d0.0 mL
- Volume of 0'10 M IYaOH solution needecl to titrate the excess acid : 15.00 mL
- l\,lolar mass of ,41(OH)r : 7g.t) g / mttl
Caiculate the mass percent of A(O$)3 in the tablet. 
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Q2) In today's experiment, \,irn r\$L_- is used as an indicatoro and it w1r
change its color from fiCI n s_k=f__}o___b 
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- I,l:iss of tlre eiitptlr crr:cibie aircl l"rycirated sait : 14 90 g

- I'lass oitire emp'Iji cl'r-lcibie anci a.1-hydrous salt afier |iealiug = f -i.05

- llolar mass of anh1,cl1611u salt 162.5 g / nlol

Calculate the value x in FeCl;.rF{:C
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2) During the alum experiment, if all the v'zater tria.d not been- dri.ven of, the calcuiated vaiue

x in KA](SO4)2.XH2C wiltr be (less than act,-,at, qfi-re than aciua*)not affected)
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